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Examples: Determine which of the following tables of values

expresses direct variation. State the constant of variation.
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Examples: Determine which of the following equations expresses
direct variation. State the constant of variation. J;or m: y: by

3. y=5

id'lred' Jariation }
k=5

4. y=2x-1

not direct variation

5. —3y=21 6.
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3.2 Direct Variation

direct variation - relabionship between two variables
So +their rahio 1’ oo constant.
(odways +he same )
**Say one variable: A
Waries directly” as the sther

B d‘\vec\'\\) pro PQY“HG(\O\‘ "
**constant of variation - Sumbal: k.
s dhad constant ratio

*To Lind Pris—> PU»+ e pairs of nuembers
oo fake and Qempare.
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SEE cw 37 Direct Voriation
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Direct Variation Equation - ‘Fov m: = ,pax
R = constant of variakion (Cbﬁcﬁclenjr a{:x>

* s a linear eobuovéion (line)

* A\woﬁs ontans the PO_\Y\{“ (Q)QX
SV %TO\PV\ ‘\‘V‘TGV\&\V\ Hhe 0\/13/\
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— Salve ar

?Dues 1t ook fke y=lex?

Page 4

7. If d varies directly as t and d =520 when 7= 13, find the

value of d when 1=9. a iwﬂ
220 _d t
= —

12d =4(520)
124 = 4,80
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8. The bending of a beam varies directly as its mass. A beam is
bent 20 mm by a mass of 40 kg. How much will the beam
bend with a mass of 100 kg?

ass (Ka)
letx = beam bend <W\m) \_r;ﬁgr\—d—@gmv

40 _Joo
20 — X
H0x =200100)
H0x=2000
= 2000
40
X=30
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HOMEWORK

Worksheet - HW 3.2 Direct Variation



